[image: image1.jpg]24. For :—n.?:oi.:w pedigree, predict the mode of inheritance and
the resulting genotypes of each individual. Assume that the
alleles A and a control the expression of the trait.
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FIGURE 4-12 (a) A human
pedigree of the X-linked color
blindness trait. (b) The most
probable genotype of each indi-
vidual in the pedigree. The pho-
tograph is of an Ishihara color
blindness chart. Red-green color-
blind individuals see a 3 rather
than the figure 8 visualized by
those with normal color vision.
(Photo: Mary Teresa Giancoli)

.

A




[image: image3.jpg]27. Draw all possible conclusions concerning the mode of inheri-
tance of the trait expressed in each of the following limited
pedigrees. (Each case is based on a different trait.)
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[image: image4.jpg]23. Consider the following three pedigrees (all involve the same
human trait):

1 2 3
|
[}

4 5 6
I
]

7 8 9

(a) Which sets of conditions, if any, can be excluded?
dominant and X-linked
dominant and autosomal
recessive and X-linked
recessive and autosomal

(b) For any set of conditions that you excluded, indicate the
single individual in generation II (1-9) that was instrumen-
tal in your decision to exclude that condition. If none were
excluded, answer “none apply.”

(c) Given your conclusions in parts (a) and (b), indicate the
genotype of individuals II-1, I1-6, and I1-9. If more than one
possibility applics, list all possibilities. Use the symbols A
and a for the genotypes.
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26. The following pedigree follows the inheritance of myopia
(nearsightedness) in humans. Predict whether the disorder is
inherited as a dominant or a recessive trait. Based on your pre-
diction, indicate the most probable genotype for each individual.
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